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SYSSTAT1

SQL> create table sysstat1 as 



  2  select * from v$sysstat; 

 

Table created. 

 

ALL_OBJECTS

SQL> select count(*) from all_objects; 

 

  COUNT(*) 

---------- 

     72795 

 

SYSSTAT2

SQL> create table sysstat2 as 

  2  select * from v$sysstat; 

 

Table created. 

 

SYSSTAT2 SYSSTAT1

SQL> -- get delta 

SQL> col name format a40 

SQL> col delta format 999,999,999,999 

SQL> select 

  2   s1.name, (s2.value - s1.value) as delta 

  3  from 

  4   sysstat1 s1, 

  5   sysstat2 s2 

  6  where 

  7   s1.statistic# = s2.statistic# 



  8   and (s2.value - s1.value) > 0 

  9  order by 

 10   2 desc 

 11  ; 

 

NAME                                                DELTA 

---------------------------------------- ---------------- 

cell physical IO interconnect bytes             7,757,312 

physical read total bytes                       7,618,560 

physical read bytes                             7,585,792 

session uga memory max                          2,131,824 

session pga memory                              1,966,080 

session pga memory max                          1,949,052 

session uga memory                                553,868 

physical write total bytes                        138,752 

index scans kdiixs1                                95,559 

buffer is pinned count                             84,072 

table scan rows gotten                             81,313 

physical write bytes                               57,344 

... ( ) ... 

switch current to new buffer                            1 

redo synch writes                                       1 

 

111 rows selected. 

 

ALL_OBJECTS
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V$SYSTEM_EVENT

V$LATCH
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DBMS_WORKLOAD_REPOSITORY

DBMS_WORKLOAD_REPOSITORY.CREATE_SNAPSHOT

SQL> -- 1st snapshot 

SQL> col begin_snap new_value begin_snap; 

SQL> col db_id new_value db_id; 

SQL> col inst_num new_value inst_num; 

SQL>  

SQL> select dbid as db_id from v$database; 

 

     DB_ID 

---------- 

 864753741 

 

SQL> select instance_number as inst_num from v$instance; 



 

  INST_NUM 

---------- 

         1 

 

SQL>  

SQL> select dbms_workload_repository.create_snapshot as begin_snap from dual; 

 

BEGIN_SNAP 

---------- 

      2874 

 

ALL_OBJECTS 

SQL> select count(*) from all_objects; 

 

  COUNT(*) 

---------- 

     72796 

 

SQL> -- 2nd snapshot 

SQL> col end_snap new_value end_snap; 

SQL> select dbms_workload_repository.create_snapshot as end_snap from dual; 

 

  END_SNAP 

---------- 

      2875 

 

DBMS_WORKLOAD_REPOSITORY.AWR_REPORT_TEXT[_HTML]

SQL> --- AWR report 

SQL> select * from table( 

  2   dbms_workload_repository.awr_report_text( 



  3          &db_id, 

  4          &inst_num, 

  5          &begin_snap, 

  6          &end_snap) 

  7    ); 

 

... ( ) ... 

Top 5 Timed Foreground Events 

~~~~~~~~~~~~~~~~~~~~~~~~~~~~~ 

                                                           Avg 

                                                          wait   % DB 

Event                                 Waits     Time(s)   (ms)   time Wait Class 

------------------------------ ------------ ----------- ------ ------ ---------- 

DB CPU                                                5          75.3 

db file sequential read                 173           1      8   18.1 User I/O 

asynch descriptor resize             26,068           1      0    7.7 Other 

control file sequential read            105           0      2    2.4 System I/O 

direct path read                          5           0      9     .7 User I/O 

... ( ) ... 

 

   

V$SESSTAT



SQL> -- every dump is snapshot data!!! 

SQL> alter session set events 'immediate trace name heapdump level 1'; 

 

Session altered. 

 

HEAP DUMP heap name="pga heap"  desc=0FB8A628 

 extent sz=0x206c alt=108 het=32767 rec=0 flg=2 opc=2 

 parent=00000000 owner=00000000 nex=00000000 xsz=0xfff8 heap=00000000 

 fl2=0x60, nex=00000000 

EXTENT 0 addr=0E950008 

  Chunk  e950010 sz=    12712    perm      "perm           "  alo=12712 

  Chunk  e9531b8 sz=     3300    freeable  "diag pga       "  ds=0D3B04C0 

  Chunk  e953e9c sz=     8460    perm      "perm           "  alo=4224 

  Chunk  e955fa8 sz=    32796    freeable  "kgh stack      " 

  Chunk  e95dfc4 sz=     8252    freeable  "Alloc environm "  ds=0DD6C880 

EXTENT 1 addr=0FFC0008 

  Chunk  ffc0010 sz=     2548    free      "               " 

  Chunk  ffc0a04 sz=     8588    freeable  "Alloc environm "  ds=0DD6C880 

  Chunk  ffc2b90 sz=     1292    freeable  "koh-kghu call h" 

... ( ) ... 
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ALL_OBJECTS

SQL> -- session #1 

SQL> exec dbms_application_info.set_client_info('session1'); 

 

PL/SQL procedure successfully completed. 

 

SQL> select count(*) from all_objects; 

... (  ) ... 

 



SQL> -- session #2 

SQL> col sid new_value sid 

SQL> select sid from v$session where client_info = 'session1'; 

 

       SID 

---------- 

       141 

 

V$SESSION_WAIT

SQL> set serveroutput on 

SQL> declare 

  2   v_sw v$session_wait%rowtype; 

  3  begin 

  4   for idx in 1 .. 1000 loop 

  5    begin 

  6     select * into v_sw 

  7     from v$session_wait 

  8     where sid = &sid 

  9      and state = 'WAITING'; 

 10   

 11     dbms_output.put_line( 

 12      'event = ' || v_sw.event || 

 13      ', seq# = ' || v_sw.seq# || 

 14      ', p1 = ' || v_sw.p1 || 

 15      ', elapsed = ' || 

trunc(v_sw.wait_time_micro/1000,2) || '(ms)'); 

 16    exception when others then 

 17     null; 

 18    end; 

 19   end loop; 

 20  end; 

 21  / 

 



... ( ) ... 

event = direct path read, seq# = 63693, p1 = 1, elapsed = 11.55(ms) 

event = direct path read, seq# = 63693, p1 = 1, elapsed = 11.64(ms) 

event = direct path read, seq# = 63693, p1 = 1, elapsed = 11.71(ms) 

event = asynch descriptor resize, seq# = 63694, p1 = 1, elapsed = .07(ms) 

event = asynch descriptor resize, seq# = 63694, p1 = 1, elapsed = .15(ms) 

event = asynch descriptor resize, seq# = 63694, p1 = 1, elapsed = .21(ms) 

... ( ) ... 

 

V$SESSION_WAIT

SESSION_WAIT

SQL> create table session_wait 

  2  as 

  3  select * 

  4  from v$session_wait 

  5  where 1 = 0 

  6  ; 

 

Table created. 

 

SESSION_WAIT

SQL> begin 



  2   for idx in 1 .. 1000 loop 

  3   

  4    insert into session_wait 

  5    select * 

  6    from v$session_wait 

  7    where sid = &sid 

  8     and state = 'WAITING'; 

  9   

 10    dbms_lock.sleep(0.001); 

 11   

 12   end loop; 

 13  end; 

 14  / 

 

PL/SQL procedure successfully completed. 

 

SQL> select 

  2   event, 

  3   count(*) as hits 

  4  from 

  5   session_wait 

  6  group by 

  7   event 

  8  order by 

  9   2 desc 

 10  ; 

 

EVENT                                                                  HITS 

---------------------------------------------------------------- ---------- 

asynch descriptor resize                                                 11 

db file sequential read                                                   1 

 



SQL> select /*+ no_query_transformation 

  2    ordered use_nl(w) */ 

  3   w.event, 

  4   count(*) as hits 

  5  from 

  6   (select level from dual connect by level <= 50000) x, 

  7   (select 

  8    decode(state, 'WAITING', event, 'ON CPU') as event 

  9   from v$session_wait 

 10   where sid = &sid) w 

 11  group by 

 12   w.event 

 13  order by 

 14   2 desc 

 15  ; 

 

� DUAL X

� V$SESSION_WAIT

� 
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� NO_QUERY_TRANSFORMATION

� ORDERED X

� USE_NL V$SESSION 

_WAIT



EVENT                                HITS 

------------------------------ ---------- 

ON CPU                              30529 

asynch descriptor resize            15617 

direct path read                     3854 

 

SQL> -- session #2 

SQL> col event format a30 

SQL> with w as ( 

  2   select /*+ no_query_transformation 

  3     ordered use_nl(w) */ 

  4    w.event, 

  5    count(*) as hits, 

  6    count(distinct seq#) as dist_waits, 

  7    50000 as total_hits 

  8   from 

  9    (select level from dual connect by level <= 50000) x, 

 10    (select 

 11     decode(state, 'WAITING', event, 'ON CPU') as event, 

 12     decode(state, 'WATIING', seq#, 0) as seq# 

 13    from v$session_wait 

 14    where sid = &sid) w 

 15   group by 

 16    w.event 

 17   order by 

 18    2 desc 

 19  ) 

 20  select /*+ ordered */ 

 21   w.event, 

 22   trunc(100*w.hits/w.total_hits,1) as wait_pct, 

 23   trunc((t2.gt - t1.gt)*w.hits/w.total_hits/100,2) as wait_time, 

 24   trunc((t2.gt - t1.gt)*w.hits/w.total_hits/w.dist_waits/100,3) as avg_wait_time 

 25  from 

 26   (select dbms_utility.get_time as gt from dual) t1, 

 27   w, 

 28   (select dbms_utility.get_time as gt from dual) t2 

 29  order by 

 30   2 desc 



 31  ; 

 

� V$SESSION_WAIT V$SESSION_WAIT 

� 

� 

EVENT                            WAIT_PCT  WAIT_TIME AVG_WAIT_TIME 

------------------------------ ---------- ---------- ------------- 

ON CPU                               91.8        .53          .532 

asynch descriptor resize              8.1        .04          .047 

 

V$SESSION_WAIT V$SESSION



    

V$SESSION_WAIT

prompt> oerr 10046 

 "enable SQL statement timing" 

// *Cause: 

// *Action: 

 

SQL> alter session set events '10046 trace name context forever, level 8'; 

 

Session altered. 

 

SQL> select count(*) from all_objects; 

 

  COUNT(*) 

---------- 

     72796 

 

SQL> alter session set events '10046 trace name context off'; 

 

Session altered. 

 



PARSING IN CURSOR #12 len=32 dep=0 uid=97 oct=3 lid=97 tim=271686695607 hv=789896629 

ad='16c89bb8' sqlid='9tz4qu4rj9rdp' 

select count(*) from all_objects 

END OF STMT 

PARSE 

#12:c=156250,e=188203,p=1,cr=552,cu=0,mis=1,r=0,dep=0,og=1,plh=1001908815,tim=2716866

95604 

EXEC #12:c=0,e=155,p=0,cr=0,cu=0,mis=0,r=0,dep=0,og=1,plh=1001908815,tim=271686695918 

WAIT #12: nam='SQL*Net message to client' ela= 6 driver id=1413697536 #bytes=1 p3=0 

obj#=85351 tim=271686696060 

WAIT #12: nam='direct path read' ela= 36545 file number=1 first dba=241 block cnt=7 

obj#=18 tim=271686735654 

... 

 

prompt> tkprof xxx.trc xxx.out 
 

SQL ID: 9tz4qu4rj9rdp 

Plan Hash: 1001908815 

select count(*) 

from 

 all_objects 

 

 

call     count       cpu    elapsed       disk      query    current        rows 

------- ------  -------- ---------- ---------- ---------- ----------  ---------- 

Parse        1      0.00       0.00          0          0          0           0 

Execute      1      0.00       0.00          0          0          0           0 

Fetch        2      6.40       6.92        925      44249          0           1 

------- ------  -------- ---------- ---------- ---------- ----------  ---------- 

total        4      6.40       6.92        925      44249          0           1 

 



... ( )... 

 

prompt> oerr 10053 

"CBO Enable optimizer trace" 

// *Cause: 

// *Action: 

 

SQL> alter session set events '10053 trace name context forever, level 1'; 

 

Session altered. 

 

SQL> select count(*) 

  2  from all_objects 

  3  where rownum = 1 

  4  ; 

 

  COUNT(*) 

---------- 

         1 

 

SQL> alter session set events '10053 trace name context off'; 

 

Session altered. 

 



SQL> @trace_file 

----------------------------------------------------------------------- 

c:\oracle\diag\rdbms\ukja1120\ukja1120\trace\ukja1120_ora_1796.trc 

 

... ( ) ... 

*************************************** 

GENERAL PLANS 

*************************************** 

Considering cardinality-based initial join order. 

Permutations for Starting Table :0 

Join order[1]:  OBJAUTH$[OBJAUTH$]#0  X$KZSRO[X$KZSRO]#1 

 

*************** 

Now joining: X$KZSRO[X$KZSRO]#1 

... ( ) ... 

 

SQL> select count(*) 

  2  from table(tpack.get_tracefile_contents(tpack.get_tracefile_name)) 

  3  where column_value like 'Now joining%' 

  4  ; 

 

  COUNT(*) 

---------- 

       301 

  


